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Who was the writer of ‘Desan Mein Des
Haryana' ?

(A) Lakhamichand

(B) Uday Bhanu Hams
(C) Dayachand Mayna
(D) None of tha above

Biggest State of India in terms of area Is
{A) Maharashtra (B) U.P.

(C) Rajasthan (D) None of the above

The amendments which have created
uniformity in the structures of Panchayath Raj
and Nagarapalika institution across the
couniry are

(A) Tdand 77
(C) 76 and 42

(B) 73and 74
(D) 21 and 61

internal communication within Institutions
is done through

(A) WAN
(C) MMS

(B) LAN

(D) EBB

Select the word which is least like the other
words in the group.

(A) Othello
(C) Oliver Twist

(B) King Lear
(D) Macbeth

Gurudwara Dhamtan Sahib was built in
the memory of

(A) Guru Gobind Singh
(B) Guru Nanak

(C) Guru Tegh Bahadur
(D) None of the above

In front of a concave mirror, an object is placed
at a distance d, from the focus and the real
image is formed at a distance d, from the

focus, Then the focal length of the mirror is
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B Which ol the foll States has
Constilution 2 owing States @ separate

(A} Jammu and Kashmir
(B) Nagaland

(C) Karnataka

(D) West Bengal

€ Which of tha following Is not a world
heritage site in India ?

(A) Ahmedabad city
(B) Hampi group of monuments
(C) Beluru-Halebeedu sites

= (D) None of the above’

10. Phalgu fest is held in Faral village on
{A) Nirjal Ekadashi

(B) Somavati Amavasya

(C) Kartik Purnima

(D) None of the above

11. Who is the current Speaker of Haryana
Legislative Assembly 7 o5

(A) Abhay Singh Chautala

(B) Manohar Lal Khattar

(C) Kanwar Pal Guijjar

(D) Santosh Yadav
________represents billion characlers.
(A) Megabytes  (B) Kilobytes
©) Terabytes (D) Gigabytes

'_=13. ‘Baisakhi is usually celebrated on

12.

(A) 14* of April (B) 25" of April

{C) 1*May (D) 31* December

14 Inasurey . 100 people like
“? E"fﬂ_ juice ﬂf‘?!?g ike Ura ]uh:a and

' Tha number
“'Armlp nor Orange Is
- (E] 25n

10.
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14,

15.
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16. World's only habitat for Asiatic llon found in

17.

18.

19.
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which of the following National Park 7
(A) Bandhavgarh National Park

(B) Gir National Park

(C) Mukurthi National Park

(D) None of the above

Constructors are used to
(A) Construct the data
(B) Initialize the objact
(C) Both (A) and (B)
(D) Neither (A) nor (B)

The mean of the first 'n’ natural numbers is

n+1 n(n+1)
(A) > (B) ==t
(C) g (D) Mone of these

On 22 JanuanEEmS. PM Narendra Modi
launchgd the ‘Beti Bachao, Beti Padhao
Yojana' in which of
Haryana ?

(A) Kurukshetra
(C) Chandigarh

the following city of

(B) Panipat
(D) Panchkula

A magnetic needle lying parallel o a
magnetic field requires W units of work to

turn it through 60°. The lorque needed to

maintain the needle in this position will be
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24, Two water laps together can fill & tank in

: in Gurugram.

26. -'l‘tﬁ-.aiwn_!rias who have been considered

(0) Indonssia, Malaysia Phippines.

T

I

:3. 'Complete the analogous pair,

Bird ; Fish : : Ae
(A) Submarine
(C) Boat

roplana : 7
{B) Ship
(D) Crocodile

gg. hours. The tap of larger diameter takes

the tank separately. Find the time taken by
the tap with smaller diameter to fill the tank
separately.

(A) 25hrs.
(C) 15hrs.

(B) 20 hrs.
(D) 18 hrs.

is & folklore Museum situated

(A) Sri Krishna Museum

(B) dJahaj Kothi Zonal Museum
(€) Urusvati Museum

(D) Dharohar Museum

as the founding members of ASEAN, are
(A) India, Malaysia, Philippines, Singapore
g nd Thalandgy, o o8
(B} mﬂm Philippines, Singapore
~ and Neps S
(C) Indonesia, Malaysia, Nepal, Singapore
0 ﬁﬂﬁfhﬁil,ﬂﬂ,ﬂ,.

gap re and Thailand
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In a C++§
by default
(A) Public
(C) Protected

Mahatma Gandhi was firste

railway station of Haryana

(A) Palwal (B) Panch
(C) Kalka (D) Amritsar

is the present Lokayukla of
Haryana.

(A) Pritam Pal

(B) Justice Nawal Kishore Agarwal
(C) Kaptan Singh Solanki

(D) None of the above

Which element is deficient in milk ?

(A} Potassium
(C) lron

(B) Calcium
(D) Magnesium
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37. Co-operative larming b
successful in i TS0 Niire
{A) Denmark (B) Australi
(C) USA h"lf_‘linlﬂlla

41.

42.

Number of banks nationali i
1969 Is R0 91000

B B

Who is empowered to suspend the
operation of Fundamental Rights 7

{A) Parliament (B} Supreme Coun
(C) President (D) Prime Minister
Kalpana Chawla, the first woman of Indi
origin to go 1o space was bomn ir? I?“sr I;?qa?::
(A) Kamal (B) Hisar

(C) Kurukshetra (D) Panipat

If x, 2y, 3z are in A.P., where x, V. Z are

distinct number and are in G.P_ than th
gommeon ratio of the G.P. is it

(A) 3 (B)
(C) 2 (D)

P = 3] =

This district of Haryana has highest number
of Vidhan Sabha constituencies

{A) Gurugram (B) Panipat

(C) Hisar (D} Yamunanagar

Which of the following do you fesl are

compatible with the idea of secularism ?

(A) Recognition of State religion
(B) Domination of one religion

(C) Equal State to support all religions
(D) None of the above

tly Central Government released

4) Online banking
{I?}l} Einglﬂ window platiorm {or all e-Gove.

Services
(C) Registering child sexual abuse
;

(D) None of the above

a7,
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(D) American S
Information”

Haryana was the first Sate
to achieve 100% rural elect

(A) 1947 (B) 1955
(c) 1970 (D) 2000

The radius of Ge nuclide is measured i€
be twice the radius of Be’. The number of
nucleons in Ge are

(A) 71 (B) 72
(C) 73 (D) 74

If Z = 52 and ACT = 48, then BAT will be
equal to

(A) 39 (B) 41

(C) 44 (D) 46




The interaction between sea anemone thal
) has stinging tentacles and the clown fish
that lives among them, Is an example for

Al Mutualism (B} Amensalism
.¢) Commensalism (O} Parasitism

=y

57

Paw’ is related to 'Cat’ in the same
iyaof js related 1o it

:A) Horse
{C) Elephant

(B} Lamb
(D) Lion

g+, Shivalik hills are present in the
‘part of Haryana.
tA) West (B) East
(C) MNorth-easl (D) South-west
§4. Which of the following is a fl visi
in python 3.0 7 - cored division
(A / 8y I
€) % (D) -

Value of k in the quadratic equation
o +kx+3=0s0 1ha1ﬁh3532qequa! roots is

(A) +4 (B) +2J6
{C) #3 (D). None

56. Bhagwat Dayal Sharma was representing
constituency when he became

the first CM of Haryana.
(A) Bhiwani (B) Tosham

(€) Pataudi (D) Jhajjar

Non-Performing Asset (NPA) which IS
© making headline from past several years,
is associated with

(A) Insurance corporations

{gg Banking establishments
(C) Corporate companies

(D) None of the above
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59.

60.

61.

62.

63.

If°P, = 840, "G =35, thenr=
(A) 6 (B) 24
(C) 4 D) 5

many genes

haracter determined by :
A character de ariation IS

and does not show discrete v
known as

(A) Qualitative character
(B) Oligogenic character
(C) Quantitative character
(D) None of the above

The mean of six ohservalions IS 8. If each
observation is multiplied by 3, then new
mean becomes

(B) 8

(A) 11
(C) 48 (D) 24

If the word CAPITAL is written as
DCSMYGS, how the word NATION is
written in that code ?

(A) OCWMTT
(C) OBUJPU

(B) OBVLST
(D) OCLML

First Clone Dolly was made in
(A) Sheep (B) Goal
(C) Cow (D) Buftalo

Hawa Singh won the Asian Games gold
medal in consecutive editions of the
games in the 1966 and 1970 for which of
the following games ?

(A) Weight liing  (B) Boxing

(C) Running (D) Badminton
Which of the following States or Union
Temitories has highest density of population ?
(A) Delhi (B) West Bengal
(C) Maharashtra (D) None of the above

Tangri river is a tributary of
(A). Yamuna (B) Ghaggar
(C) Ganga (D) Markanda

59.

60.
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62.
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67 | unsolicited e-mail message
-<Gipients at once is a o,
) Worm (B} Virus
+C) Threat (D)} Spam

66 ~aw many Schedules ars thers in the
“onstitution ?
ta) 395 B) 12
wy 19 (DY 10

62 Sandhiji began his walking from Sabaramati

Ashram towards Dandi on
{4) 12 March, 1830 (B) 12 March, 1932
1C} 12 April, 1930 (D) 12 March, 1931

7u. nest gold sol is

: in colour,
{A) Red (B) Purple
({C) Golden (D) Bilue

71. Consider the following statements

1. Cirrus clouds are formed at high
altitude.

2. Cumulus clouds are look like cotton
wool,

3. Stratus clouds are the layered clouds

covering large portion of the sky.
4. Nimbus clouds are black or dark grey.

Identify the correct statements.
(A) 1,2and 3

(B) 2,3and 4

{C) Only 3and 4

(D) All the above

is wari was one of the main
- mgfﬁlenu?an Rebelfion of 1857 in
13 Haryana
] (A) Rao Sukhram
(B) Rao Tularam
(C) Rao Gujarmal Singh

" (D) Rao Ruda Singh

?3. POP3 and IMAP are e-mail accounts in

(A) One automatically gets one’s mail
®) gﬁﬁghasytnbe connected fo the 'l
- server to read or write one's mal
(C) One only has to be connected to the
" server to send and receive e-mail
(D) One does not need any telephone
i P w--._--_

67.

69,

T0.

71,

72.
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- hana, 74.  wiar £ =
e e ey a sansk g ferd S TN
ich da m <
Faj::éciatiun wilhﬂ;gnesm. & i (B) ?ﬁTﬁ'IEm
{A) Bhasa (B) Kalidasa (g (D)
(C) Banabhatta (D) Dandi ©) : ART =T
75. Human Development Index issued by 75. A~E@ Faa:rg AT
(A) IMF (B) World Bank ﬁ“ m : @) freEds
(C) UNDP (D) None of the above ©) UNDP (D) T ﬁ q aﬂﬁ w4
76. Is used as a promoter in the | 76, =7 ufiem gro smifEa é’f w iit:n% :
synthesis of ammonia by Haber's process, UF At & ®4 H 9G4
(A) Antimony {B) Arsenic (A) v (B) T
(G) Molybdenum (D) Iron (C) Tfera (D) e
77. Haryanvi tradition credils for 77. FauH = At i i r@ﬁ haks S
laying the foundation of the present style T FI 21 2 |
of Swang,
(A) Kishan Lal Bhaat (A) T o wTe
(B) Pt. Despchand (B) 9. <=
(C) Dayachand Mayna (C) ZTT=E "I
(D) None of the above (D) Fae B H 1S T
78. The 4; term of a {:.f;.F} is square of i:tas 78. UF m%fﬁsﬁq #oft =T e ;a ;ﬂﬁ L
second term and the first term is — 3, FAL I TEIIE -3 i
then the 7 term of the G.P is 2vft 1 7 3t g 2
(h) —2187 ByEatby (A) -2187 (B) 2187
(C) 343 (D) —343 (C) 343 (D) —343
79. Complete the analogy. 79. HWEIHT qui Hifsm |
B:28:27:7 8:28:27:9
w B8:28:27:7
(A) 8 (B) 28 19 (A) 8 (B) 28
(C) 64 (D) 85 @’ (C) 64 (D) 65
80. mistIMGiﬁ'? ?satg arare disgrni:tiun of 0. 3ETHIfE = , T 3
- Serving as Minister in the un vided BN E 5 bri=sim
unjab, Rajasthan and Haryana A 3 ﬁﬁ%mﬁmmﬁw
(A) Bansilal o TS
(B) Choudhary Tayyab Husain @ e
(C) Zakir Husain (B) aﬁuﬂﬂg:géq
(D) Choudhary Yaseen Husain (C) wf
Y (D) Eﬁuﬂmﬁgﬂq
81.In the sequence of number 81. w3l s, 8,13 g
5 8 13, X, 34, 55, 89, the .""_ﬂ"-"a of x s eipat % » 13, X, 34, 55, 89 iﬁ?ﬂﬁ
o 20 B, e (&) 20 ®) 21
(C) 23 (D) 29 () 23 (D) 29




g2. Acoinis tossed twice. The probabi
that at least one tail appgamp mhab Wy

1
A 3 (8 -

2
3

4

I

4

(C) (D) 0

Which of the following is an o
word processor ? - i

(A) MS Word
(C) Kwrite

(B) WordPerlect Office
(D) MS Excal

The remainder obtained wh el
divided by 25, is SILE T

(A) O
{C) 1

(8) 10

(D) 5
e
(A) RNA interference

(B) DNA interference

(C) Green revolution

(D) None of the above

______ receivedthe Jnanpith Award for
her contribution to Hindi literature in 2017.

' (A) Vanitha (B) Shankha Ghosh
(C) Pratibha Ray (D) Krishna Sobti

o L

§7. The number of terms in the expansion of

LIS ﬂ&xﬂ- Yar)" is

(A) 8 (8) 29
% 28 (D) 12

mnmm.masacmtﬂkar
i r of Indi

(A) 8
28
"iniater of India twice
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(B) FETHER ATHH

(A) THTRTE
(C) e (D) TUH UE TS

&" - 5n 1 25 & fawE F W arE
i
(A) 0
(C) 1

7§ T A
e e e e |
(A) HT. TH. T, FORE

(B) #. T. L. T

(C) wf i

(D) 3 # & F1§ 7

=1 2017 1 & Tk # 3%
TR g A4S TEERT (e |
(a) = (B) ¥ =M
(C) wfEs (D) FT BE

(B) 10
D) 5

g

7. ({mya)‘)’ 3 oo ) i &

(B) 29
(D) 12

(A) 8
(C) 28
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English Language
¥ craa 1 WA
Fill in the blanks with appropriate article. 85, -;T;q~m ﬂ;ﬁ 27
8. ;ﬂ"ﬂf was truly great poet. (A) wH F (8) :ﬁﬂx
(B) No article needed (C) HYHh 2
(C) the 06 ‘e e werat a 344 B
). e (A) TR
80. There is not man here wha will (B) M1 =T
not support you, (C) I CIE B AC
(A) a (B) Not needed
(C) an (D) the (D) A £
¥ aﬂ:l Tl
Supply suitable verb in agreement with its subject. 97.. RS EET SR EH g .
19 T FEd 8 7
+  The means empi
cuteneans empioyed by you (A) FegE (8) fa
() ‘re ©) z= (D) Fghfe
:E‘B] were 98. UF + UF = UHF dg dHA-d w2 7
¥ } Is 5 .
(A) =eF =iy
| (D) None of the above (B) = =y
92, lT;;ﬂnsl:rﬂ, as well as Arabic, taught (C) Ffg =y
ara, :
- D afe
(A) was (B) are t ek
(C) were (D) have 99. “'EW ugd § "' ¥8 AT ) BT s
Sa&act the correct expression from the given T §
. options and fill in the blanks. (A) & T (B) &g
83, He was much by his loss, Qg O350
{A4) cast away (B) cast down 100. @901 & Fer T Wi v g
© castofl (D) calyp w7
Areligioushope & man in hie (A) ¥ Ay
. s (B) =M ar=q
{fg: zﬁﬁ-gwﬂ (C) &4 ar=x
S (D) ré e
= -




